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Size:     

Across, from point to point:                                 2 x 74 cm = 148 cm 

Hight: Approx. 75 cm 

Yarn requirements:   1 ball of 200 g = 600 m 

Needles: Circular needles size 4,0 mm / UK 8 / US 6 

Quality:  Mayflower Taormina 
 

 

The shawl is worked from the middle and 
outwards.  
 
Description 
The edge stitch (ES) is worked (K) knit on all 
rows.  
 
Stockinette stitch: Knit (K) on the right side, 
purl (P) on the wrong side.  
 
Reversed stockinette stitch: Purl (P) on the 
right side, knit (K) on the wrong side. 
 
Pattern: 2 rows of stockinette stich and 2 
rows of reversed stockinette stitch.  
 
Left side increase (Inc-L): Work K1 in the 
left side of the stitch below the last stitch 
worked - Meaning in the left “leg of the V”.  
 
Right side increase (Inc-R): Work K1 in the 
right side of the stitch below the next stitch - 
Meaning in the right “leg of the V”. 
 
 
Shawl – begin here: 
Cast on 6 stitches and work 1st row knit (K). 
Row 2 (right side): K1 (ES), YO, P1, YO, K2 
(center stitches), YO, P1, YO, K1 (ES). 
Row 3 (wrong side): K1 (ES), TwP1, P1, 
TwP1, P2 (center stitches), TwP1, P1, TwP1, 
K1 (ES). 
Row 4 (right side): ES, K1, Inc-L, K2, Inc-R, 
place a stitch marker, K2 (center stitches), 
place a stitch marker, Inc-L, K2, Inc-R, K1, 
ES.  
Row 5 (wrong side): ES, P12, ES 
Row 6 (right side): ES, K1, Inc-L, P4, Inc-R, 
K2 (center stitches), Inc-L, P4, Inc-R, K1, ES. 

Row 7 (wrong side): ES, K6, P2 (center 
stitches), K6, P1, ES. 
Row 8 (right side): ES, K1, Inc-L, K6, Inc-R, 
K2 (center stitches), Inc-R, K6, Inc-R, K1, ES. 
Row 9 (wrong side): ES, P9, P2 (center 
stitches), P9, ES.  
Row 10: ES, K1, Inc-L, P8, Inc-R, K2 (center 
stitches), Inc-L, P8, Inc-R, K1, ES.  
Row 11: ES, P1, K10, P2 (center stitches), 
K10, P1, ES. 
*Row 12: ES, K1, Inc-L, K10, Inc-R, K2 
(center stitches), Inc-L, K10, Inc-R, K1, ES. 
Row 13: ES, P13, P2 (center stitches), P13, 
ES.  
Row 14: ES, K1, work TwK1 in the chain 
between the stitches, P12, Inc-R, K2 
(center stitches), Inc-L, P12, Inc-R, K1, ES.  
Row 15: ES, P1, K14, P2 (center stitches), 
K14, P1, ES.* 
Row 16: ES, K1, Inc-L, K14, Inc-R, K2 
(center stitches), Inc-L, K14, Inc-R, K1, ES. 
Row 17: ES, P17, P2 (center stitches), P17, 
ES.  
Row 18: ES, K1, work TwK1 in the chain 
between the stitches, P16, Inc-R, K2 (center 
stitches), Inc-L, P16, Inc-R, K1, ES. 
Row 19: ES, P1, K18, P2 (center stitches), 
K18, P1, ES.  
 
Repeat rows 12-15 (from *-*) as shown from 
rows 16-19, where increases are worked on 
both sides and on both sides of the two 
center stitches on all right-side rows = 4 
increases each time. 
 
Remember all ES are worked (K) knit. 
 
Within the ES-stitches on both sides, the 
first/last stitch are worked in stockinette stitch, 
also the two center stitches are worked in 
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stockinette stitch. The increases are always 
worked next to a stockinette stitch.  
 
The stitches between the increases are 
worked in pattern on the following wrong-side 
row.  
 
Continue working this way until the yarn runs 
out – Note: you will need approx. 10 m. of 
yarn to bind off. Bind off loosely.  
 
Weave in all loose ends.  
 
 
 
 
 


